1960 GeV ppbar Top (parton level)
I I I | I | I I I

Ratio to Pythia 8.308 default

I I I | I 9
= — %
- M (ttbar) (pTtt < 50 dy > 0) 33
B 1=
=— —— Pythia 8.308 default —= :
— Pythia 8.308 tune-1 =L
- Pytiia“8-:8Q8 tune-2c ] S!
= Pythia 8.308 tUfes2m =
: 5: AMMMMM.Y. : E

f Mulg =
= j _%“"‘g;._,‘ = x
B 7 "“-%“ ]
= g “B‘*‘.'.. =
= ‘f x.,_l‘x ) 3
- | Rl
1 _
-|__ | | | | | | | | | | | | | | | |:
i T T T | T T T | T T T | T T T |:
8 32
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
200 400 600 800 1000

mcplots.cern.ch [arXiv:1306.3436]



	Contents
	Page 1


